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QUESTION 1

Which two resource attributes must the administrator set correctly to prevent a fault for the service group when a new
resource is added? (Choose two.) 

A. AutoDisabled 

B. Critical 

C. Enabled 

D. Frozen 

E. MonitorOnly 

Correct Answer: BC 

 

QUESTION 2

Refer to the exhibit. 

On which node will the websg service group start if all nodes are powered on and come online at the same time? 

A. s4 

B. s2 

C. s1 

D. s3 

Correct Answer: B 
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QUESTION 3

An administrator wants to configure an HA fire drill for a service group in an existing cluster. Which two behaviors should
the administrator expect? (Choose two.) 

A. The fire drill uses the Action function associated with the agent. 

B. The fire drill clones the service groups in the cluster. 

C. The fire drill uses virtual IP to test the failover of service groups. 

D. The fire drill requires an additional license installed on each node of the cluster. 

E. The fire drill detects discrepancies between the VCS configuration and underlying infrastructure. 

Correct Answer: BE 

 

QUESTION 4

Refer to the exhibit. 

How many services are seeded in the GAB port membership? 

A. The GAB port membership has two nodes: 1 and 2. 

B. The GAB port membership has three nodes: 0, 1, and 12. 

C. The GAB port membership has one node: 1. 

D. The GAB port membership has four nodes: 0, 1, 21, and 22. 

Correct Answer: D 
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QUESTION 5

What is the primary benefit of implementing the Intelligent Monitoring Framework feature for resources? 

A. monitoring of cluster-to-cluster heartbeat 

B. monitoring of Virtual machines 

C. immediate notification of resource state change 

D. monitoring application outside cluster confuguration 

Correct Answer: C 
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